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I NS SA JIBtX A
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 43,414
101 Q121 H] 72,457 61,725 10,732
= 29,043
= 43,414
03 RIAHL*ZZXHE S 72,457 34,018 38,439
OPIE=3=; 1,760,000 2% x12& 42,240
= 21,120
= 21,120
OIEESESE=x=) 1,760,000 x2H 1 & 3,520
= 1,760
= 1,760
Oz A 130,000& 22 x 12 3,120
OusE Xl 60,0008 x2H x12& 1,440
ONESLHY(IIEIIE) 240,000 x12& 2,880
OAZIAZ 2L (HHE) 140,000 x2H <128 3,360
o4 E =2 58,086,000 *10% 5,809
= 2,905
= 2,904
OFSF=E-0= 176,000 x2H x23| 704
OY&E 5 IHy| 1,760,000 2% x23| x60% 4,224
Odilgass=< 68,000& x2H *10 1,360
= 358
= 1,002
OYIEA ol
(150,000 x2H 128 )+(50,000& 2H 23] ) 3,800
= 2,900
= 900
NEAMEEH 29 5,520 5,520 0
201 et d| 5,520 5,520 0
01 AR 22l ] 5,520 5,520 0]
OXEEA AAIX & EE82 HX
5,000 x15082 *x23| 1,500
OXNESAIZ=E AIREE 2 150,000 x12& 1,800
OXNREAL &0 DA HAIE H X
50,000 *30H4 1,500
OF=ZXNASAMAEEEZS23 3Hl 60,0008 128 720
ANSAEHES X 17,970 28,970 A 11,000
= 4,890
= 13,080
301 dEtE M= 9,700 5,700 4,000
& 1,710
= 7,990
09 #HAIAHI XIS 2 9,700 5,700 4,000
OX3SAI &H 23 S &4 B4 1,200
== 360
= 840
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SN ALSI S X
Ha: ASISK JIBEH
&S UHSA 2S5 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXESALE EIHA AHl 24 4,500
< 1,350
[ia 3,150
OXr& SAITHE EOtX Aldl Ba(FIHXE)
8,000& *500H 4,000
307 21201 A 8,270 23,270 A 15,000
< 3,180
e 5,090
02 QB LA EX 3,500 3,500 0
O&EE MNESA X& 3,500
< 1,750
s 1,750
12 QIO & = H| 4,770 19,770 A 15,000
O+ XNISAMI A= 4,770
< 1,430
[ia 3,340
A SAES S X3 (KHA) 5,800 4,200 1,600
201 L2l 5,800 4,200 1,600
01 At 22l 8l 5,800 4,200 1,600
O3 SAtHE &= M= 60,0003 =154 900
O SAUE dE 82 200,000 *5H 2 1,000
OXESACHE B M= 100,000 * 110 & 1,100
O3 SAHE &1 M= 100,000& =124 1,200
OSSN E537Y & UAH
1,000 2001 30 600
OEHAE NHFSAESTH 257
250,000& x4 1,000
HHSAH 23 K& 18,100 18,100 0
301 EEMZ 3,700 3,700 0
09 HAAHIX A S 3,700 3,700 0
OXNZSAEs &4 24 8,0002*100H 43| 3,200
OXNEASA 2 s ZF4 B4 (22)
50,000& 10 500
307 glz2+ol & 14,400 14,400 0
02 QIZtE M AHEE 14,400 14,400 0
OXNFESANES(0SES )M X
1,200,000& »12& 14,400
M2 S8 UASARE Y HUIA X 3,310 3,500 A190
= 1,655
s 1,655
307 glz2tol & 3,310 3,500 A 190
= 1,655
s 1,655
06 283 3,310 3,500 A 190




SN ALSI S X
M M =X JIEtEH
el NREA BE KW (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONJASAA B2 X& 1,000& *3,310H 3,310
= 1,655
[ia 1,655
I MEEH 14,182,111 15,451,710 A 1,269,599
= 11,984,848
= 1,402,129
[ 795,134
oI ZMEEE S0 11,274,174 12,996,691 AN1,722,517
= 9,699,906
< 1,212,489
i 361,779
II=MESFE MASA 8,108,523 8,304, 159 A 195,636
= 7,207,576
< 900,947
301 LEBEAZ 8,108,523 8,304, 159 A 195,636
= 7,207,576
< 900,947
01 MEI2ZE 05z 8,108,523 8,304, 159 A 195,636
OMAZ0(3,117Y) 8,108,523
= 7,207,576
< 900,947
I=MESZ HAEHSH 100, 136 106,216 A 6,080
= 80,108
< 10,014
s 10,014
301 LA F 100,136 106,216 A 6,080
= 80,108
< 10,014
s 10,014
01 MI28E +06l= 100,136 106,216 A 6,080
Odll &&= 04 (93H) 100,136
= 80,108
< 10,014
i 10,014
wEs0 A& 18,637 27,584 N 8,947
308 AHXIEHHSOIA 18,637 27,584 A8,947
08 WSIIA20HetE X 18,637 27,584 N 8,947
Ouszs0 = 2E3(525%) 18,637
IzMas8zd =g X X 31,600 31,600 0
202 044l 600 600 0
01 = LH o4 1l 600 600 0
OJz=Ma2dg i A IXEZ
60,0003 x2F 52 600
301 LEBEAZ 31,000 31,000 0
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Ol
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INEEEEETE] 31,000 31,000 0
SRLSX SO L B S
200, 000! ¥250% *50% 25,000
OJNZMBLSHL2T NHE S =22 N

300,000& 20 6,000

FHs80 X 3,015,278 4,527,132 A 1,511,854
2,412,222
301,528
301,528

MW

wW
<
1o
e
HL
o
oy

,615,278 2,358,044 NT42,766
1,292,222
161,528
161,528

MW

a

01 A28 H =dl= 1,615,278 2,358,044 NT42,766
=0 1,615,278

1,292,222
161,528
161,528

UL Y

403 A X EHS K= 0l A 1,400,000 2,169,088 AT769,088
1,120,000
140,000
140,000

R

S
il
=2
o2
ro
=]
I
A
40

& ArE H 1,400,000 2,169,088 AT769,088
,400,000

, 120,000
140,000
140,000

O
1>
>
10 0

pa]
my
2

Mo R

PAE-DNE-] 2,907,937 2,455,019 452,918
2,284,942
189,640
433,355

Mo A

A& A 2,741,586 2,330,591 410,995
2,159,926
177,673
403,987

M A

[he}
2
e
L
Mo
02
=

20,000 20,000 0
16,000
1,200
2,800

Mo

&=

20,000 20,000 0

20,000
16,000
1,200
2,800

2
O =
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Wy
> o

)
4
£
&)
02
=

Mo A

202 o4 4l 12,000 12,000 0

9,600
720
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2N
X ZH -
L= B

el

NEEpin
=XIBEVE R

A& X2

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

o 1,680

01 = LH o4 1l 12,000 12,000 0
OXteArey =& 12,000
= 9,600
< 720
= 1,680

301 LEAF 1,190, 165 1,107,380 82,785
= 952,132
< 71,410
s 166,623

01 Al EE X =06l = 1,190,165 1,107,380 82,785
OQEET22018 HE22(50H) 636,000
- 508,800
< 38,160
e 89,040
OZ=2RXE X&E22(509%) 437,736
= 350,189
= 26,264
i 61,283
OX&&a2(44Y) 116,429
= 93,143
< 6,986
e 16,300

307 glz2+ol & 1,519,421 1,191,211 328,210
= 1,182,194
< 104,343
= 232,884

05 RIZHRI &t 3 1,200,000 870,000 330,000
OXEZZ ALY 212t E(80Y) 1,200,000
= 960,000
< 72,000
s 168,000

10 M2 SXNANEHES2IHEX 319,421 297,936 21,485
OXte At 2tel 294l 28,725
= 20,107
= 2,873
= 5,745
OXte At 2tel 29l 2,000
< 600
[ia 1,400
OXYxads 294l 288,696
= 202,087
< 28,870
i 57,739

2Z2s8UA=E == Ex2 N2 156,271 115,788 40,483
= 125,016
= 9,375
= 21,880
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21,880
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AEx 156,271 115,788 40,483
OgISEH | (2Y) 6,250
5,000
375
875
O3 LIISSE I (66Y) 65,768
52,614
3,946
9,208
ougrIssa(11g) 8,108
6,486
486
1,136
OFHEF LIS SH(19Y) 51,271
41,017
3,076
7,178
OFAMESAHE(13Y) 24,874
19,899
1,492
3,483

A UL RN MW Mo

EUR Y

NAXEEEH SAX=E X 6,480 5,040 1,440

2,592
3,888

M

307 glztol & 6,480 5,040 1,440
2,592
3,888

EUNLY

10 AFRIS XA EHE 23

OXNSTHEHE SAXLH

HT

6,480 5,040 1,440

A CH
— o
90,

L

Jn

0003 6L 122 6,480
2,592
3,888

Mo

22 SESL(NHEANE) 3,600 3,600 0

307 21201 A 3,600 3,600 0

A SXAIE E = 3,600 3,600 0
Ogzz SE€-Y(I2NAXNEHH)

50,0003 x6H x12& 3,600

MNASES degetd XE 834,390 478,079 356,311

415,659
85,944
332,787

MW

NAass g8 X2 834,390 478,079 356,311
415,659
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A AMIEX
HE: HASS MO X
Sl HASS MBOY X8 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 85,944
= 332,787
222X K& 180,063 141,485 38,578
= 144,050
&< 10,804
= 25,209
301 et A= 180,063 141,485 38,578
= 144,050
= 10,804
= 25,209
01 Al E & A 462 180,063 141,485 38,578
O222X KA (237H9) 180,063
= 144,050
o= 10,804
= 25,209
S A 22l A el HHl KIS 127,120 122,754 4,366
= 48,846
& 9,769
= 68,505
101 e1214| 127,120 122,754 4,366
= 48,846
= 9,769
= 68,505
03 I HLs22 N+ 127,120 122,754 4,366
OE&Atdl 2tel AP 21 24|
2,100,000 x32 12 75,600
= 37,800
o= 7,560
= 30,240
OEE At 2elAI EI 2 XS 2
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